Appendices

Appendix A: Faroese clause structure

Appendix A1: Table of possible analyses

In this table, question mark does not indicate a native speaker judgement, but a possible position I deemed
less likely than the hypothesis represented in Table 2.1, that nevertheless cannot be definitively ruled out
by the data I looked at in the book. In (6), the finite verb sigur can only be occupying T if the adverb altid
is adjoined at T’, since otherwise the unacceptable order *sigur altid would hold. I have notated (15) with
a double question mark if the negative word ikki is adjoined at T’, since (i) there is no definitive evidence
that ikki ever shows up here, and (ii) it requires the analysis that the subject and finite verb are occupying
Spec,CP and C respectively, which entails Spec,CP being an extra subject-licensing position, whereas the
facts can still be covered if only Spec,TP is subject-licensing.

Table 1: Faroese clause structure: possible analyses

Spec,CP C Spec,TP T T v’ v Spec,VP \'A \' V,Comp
1. (?Tey) (?hava) Tey hava aldri (?aldri) | lisio bokina
2. Ta hava tey (?aldri) aldri (?aldri) | lisi0 bokina
3. at Jogvan hevur aldri (?aldri) | lisi0 békina
4. at Jogvan aldri hevur lisio bokina
5. hvor aldri hevdi lisio bokina
6. um hon (?altio) (?sigur) altio (?altio) | sigur satt
7. (?Tey) (?10su) Tey I6su aldri (?aldri) bokina
8. Ivaleyst skulu tey (?ongantio) ongantid | selja | dreingjunum teldurnar
9. Ivaleyst govu tey (?ongantio) ongantio dreingjunum teldurnar
10. (?Tad) (?hevur) Tad (?altio) hevur altio (altid) | verid tonleikur
11. Tad hevur | tonleikur (?altio) altio (?altio) | wverid
12. (?Ta0) (?mad) Tad md hava altio | verid nogv folk
13. (?Tad) (?md) Tad (?ongantio) md ongantio | hava verid | innlendsk tro
14. | Tann gamla bilin vil eg (2ikki) ikki (?ikki) | hava
15. (?EgQ) (?las) Eg (??ikki) las ikki (?ikki) bokina
16. (?Eg) (?las) Eg las hana ikki
17. (?Eg) (?havi) Eg havi ongan sed
18. (?Eg) (?havi) Eg havi ongan neming tosad vid __

Appendix A2: Constraints

Definitions of all the constraints proposed in this book are presented in the table below, roughly in order
of presentation and separated into the appropriate categories.

CONSTRAINT

| FORMULATION

Undominated constraints

*EMPTYSTRUC (*EMPSTR)

Assign a violation for each empty position in the output that does not satisfy
requirements of an input feature.




Suscart Assign a violation for each subcategorisation feature not satisfied in the out-
put.

Faithfulness constraints

Max Assign a violation for each feature or item present in the input that is not
present in the output.

Max[-HR] Assign a violation for each [-HR] abstract case feature on an input argument
that is not realised by a [-ur] morphosyntactic case feature on an output ar-
gument.

Max[-Lr] Assign a violation for each [-Lr] abstract case feature on an input argument

that is not realised by a [-Lr] morphosyntactic case feature on an output ar-
gument.

Max[LexCase| (Max[LC])

Assign a violation for each lexical case feature on an argument at the level of
abstract case that does not correspond to the same lexical feature value on an
argument at the level of morphosyntactic case.

Der Assign a violation for each feature or item not present in the input that is
present in the output.

Dep[+HR]/P Assign a violation for each [+HR] morphosyntactic case feature on an output
argument that does not realise a [+HR] abstract case feature on an input argu-
ment.

ParsE Assign a violation for a null parse of the input (i.e. if the output is zero).

Markedness constraints
F<XP Assign a violation for each operator, i.e. functional head, that does not precede

its operand, i.e. complement phrase.

HeapFinaL (HpFin)

Assign a violation for each head that does not occur in the final position of its
phrase.

Harmony (Hrm)

Assign a violation for each phrase XP embedded in a phrase YP where XP and
YP do not have the same headedness.

OsHeap (OsHb)

Assign a violation for each phrase not containing an overt head.

OsSpec (OBSp)

Assign a violation for each phrase not containing a specifier.

MarcuF (MF)

Assign a violation for each positional feature matrix F[vals,,] that is not iden-
tical to its corresponding item feature matrix Flvals;s,,].

MatcuCase (MC)

Assign a violation for each positional case feature matrix F[vals,] that is not
identical to its corresponding item case feature matrix Flvals,,,].

MatcuDi1s (MD)

Assign a violation for each positional discourse-feature matrix F[vals,,] that
is not identical to its corresponding item discourse-feature matrix F[vals;s, .

MarcuAbpv (MA)

Assign a violation for each positional adverbial-adjunction feature matrix
Flvals,,s] that is not identical to its corresponding item adverbial-adjunction
feature matrix Flvalsjs,, ]

CueckTns (CHkT)

Assign a violation for each Tense (T) head position not occupied by an item
bearing a [+fin] feature (i.e. of category V).

VrinHi (VEHI)

Assign a violation for each finite verb not occurring in the highest available
functional head position in the clause (CP).

ARGSP

Assign a violation for each finite TP in which no argument occupies subject
position (Spec,TP).

OsjectDP (OByDP)

Assign a violation for each V,Comp position not occupied by a full DP.

AGR[+HR]

Assign a violation for each finite verb whose number agreement value is not
identical to that of an argument bearing [+HR] morphosyntactic case in the
same clause.

Susj[+HR] (S[+HR])

Assign a violation for each position bearing [+HR] (i.e. subject position) not
occupied by an item bearing [+HR] case.




Appendix A3: Tree structures

Tree structure diagrams for the proposed winning candidates for all of the Faroese sentence types in Chap-
ter 2, Table 2.1 and Chapter 9, Table 9.2 are shown below.
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Appendix B: Stimuli sentences for surveys

In the following appendices, the sentences presented for participants for judgement are listed with glosses
and translations. Sentences are marked for mean acceptability. The data can be accessed atpurl.stanford.
edu/nd533ns7207.

Appendix B1: Faroese passive survey 1, no agent phrase

Table [3]shows the sentences presented to participants in the first Faroese passive survey, excluding filler.

Key to judgements: * = mean acceptability < 2.5, ?? = 2.5-3,? = 3—4, (?) = 4—4.1, no mark = mean > 4

Table 3: Faroese passive survey 1: sentences

Ne | u o FAROESE SENTENCE ENGLISH TRANSLATION

1 | 4.5 0.8 | Hon vard elskad ‘She was loved’
she.NoM was.sG loved.NOM.F.sG

2 4.4 0.7 | Hann bleiv seddur ‘He was seen’
he.NOM was.sG seen.NOM.M.SG

3 4.4 0.9 | Breydid vard etid “The bread was eaten’
bread-the.NoM was.sG eaten.NOM.N.SG
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4 | 42 1.1 | Hon bleiv gloymd ‘She was forgotten’
she.NoM was.sG forgotten.NOM.F.SG

5 | 4.6 0.9 | Veggurin vard mdladur ‘The wall was painted’
wall-the.~oMm was.sG painted.NoOM.M.sG

6 | 4.9 0.3 | Hann bleiv sligin ‘He was hit’
he.Nom was.sG hit.NoM.M.sG

7 | 4.5 0.8 | Hon vard sparkad ‘She was kicked’
she.noM was.sG kicked.NOM.E.sG

8 | 4.5 o.7 | Hon bleiv eygleidd ‘She was watched’
she.Nom was.sG watched.NOM.F.sG

9 4.0 1.0 | (?)Bokin vard lisin ‘The book was read’
book-the.noMm was.sG read.NOM.F.SG

10 | 4.5 1.0 | Harvard dansad alla ndttina ‘There was danced all night’
ExpL was.sG danced.sup all.acc night.acc

11 | 2.5 1.0 | ??Har bleiv sungio i kirkju ‘There was sung in church’
EXPL Was.sG sung.sup in church.par

12 | 3.8 1.3 | B ?Har vard drukkid i Irish Pub ‘There was drunk in the Irish Pub’
EXPL was.sG drunk.sup in Irish Pub [well known pub in Torshavn]

13 | 3.5 1.2 | B ?Har bleiv etid i Kaffihiisinum ‘There was eaten at the Kaffihas’
EXPL was.sG eaten.sup in coffee.house-the.oar | [well known cafe in Torshavn]

14 | 3.7 1.3 | B ?Har vard mdlad i Tilhaldinum ‘There was painted at Tilhaldid’
EXPL was.sG painted.sup in Tilhaldid.paT [well known community building in Torshavn]

15 | 1.1 0.3 | *Har bleiv sligin ‘There was hit’
EXPL Was.sG hit.NOM.M/F.sG

16 | 3.8 1.2 | B ?Har vard sparkad ‘There was kicked’
EXPL was.sG kicked.sup

17 | 4.0 1.1 | (?)Har bleiv lisid ‘“There was read’
EXPL Was.sG read.sup

Appendix B2: Faroese survey 2: passives with agent phrase & sentences with trota

Table [4] shows the passive sentences presented in the second Faroese passive survey, excluding filler. The
relatively high mean acceptability of the impersonal passive examples with ‘eat’ and ‘drink’ possibly re-
sults from respondents interpreting the prepositional phrase as meaning ‘of all types’, i.e. ‘all types (of
food/drink) were eaten/drunk’. Within the same survey, sentences involving the verb tréta ‘exhaust, run
out of’ were also tested; these are shown in Table[s} All of the sentences with tréta were judged unaccept-

able.

Key to judgements: * = mean acceptability < 2.5, ?? = 2.5-3, ? = 3—4, no mark = mean > 4

Table 4: Faroese survey 2: passive sentences

Ne | u o FAROESE SENTENCE ENGLISH TRANSLATION

1 4.3 0.7 | Honwvard elskad av ollum ‘She was loved by all’
she.NoM was.sG loved.NoM.F.sG by all.paT

2 3.3 1.0 | ?Hann bleiv seddur av gentuni ‘He was seen by the girl’
he.NoM was.sG seen.NoM.M.sG by girl-the.pat

3 2.9 1.4 | B ??Breydid vard etid av teimum ‘The bread was eaten by them’

bread-the.NoM was.sG eaten.NOM.N.sG by them.pat
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4 3.3 1.3 | B ?Hon bleiv gloymd av honum ‘She was forgotten by him’
she.NoM was.sG forgotten.NOM.F.sG by him.par

5 3.1 1.2 | B ?Veggurin vard mdaladur av teimum ‘The wall was painted by them’
wall-the.Nom was.sG painted.NoM.M.sG by them.pat

6 3.8 1.3 | B ?Hann bleiv sligin av honum ‘He was hit by him’
he.~nom was.sG hit.Nom.M.sG by him.paT

7 3.2 1.4 | B ?Hon vard sparkad av henni ‘She was kicked by her’
she.NoM was.sG kicked.NOM.F.sG by her.paT

8 3.7 1.2 | B ?Hon bleiv eygleidd av honum i ein tima ‘She was watched by him for an hour’
she.NoM was.sG watched.NOM.F.sG by him.part in one hour

9 2.4 1.1 | *Békin vard lisin av teimum i ein tima ‘The book was read by them for an hour’
book-the.Nom was.sG read.NOM.F.sG by them.DAT in one hour

10 | 2.0 0.9 | *Har vard dansad av ollum ‘There was danced by all’
EXPL was.sG danced.sup by all.pAT

11 | 2.3 1.3 | *Har bleiv sungid av ellum ‘There was sung by all’
EXPL Was.SG sung.sup by all.pat

12 | 3.2 1.5 | B ?Har vard drukkid av ollum ‘There was drunk by all’
EXPL was.sG drunk.sup by all.pat

13 | 3.9 1.3 | B ?Har bleiv etid av ollum ‘There was eaten by all’
EXPL Was.sG eaten.sup by all.pat

14 | 2.4 1.1 | *Har vard mdlad av ollum ‘There was painted by all’
EXPL Was.sG painted.sup by all.pat

15 | 1.7 1.2 | *Har bleiv sligin av honum ‘There was hit by him’
EXPL Was.sG hit.NOM.M/F.sG by him.pat

16 | 1.6 0.9 | *Harvard sparkad av teimum ‘There was kicked by them’
EXPL was.sG kicked.sup by them.par

17 | 2.3 1.0 | *Har bleiv lisid av ollum ‘There was read by all’
EXPL Was.sG read.sup by all.pat

Table 5: Faroese survey 2: trota sentences

Ne | p o SENTENCE Case & AGr

1 2.2 1.2 | *Egsnakkadi vid hann, og hann segdi, at honum trutu pengarnir, sum hann hevdi fingid DAT V NOM
I talked to him and he said that him.par exhausted.pL money-the.Nom.pL that he had got | [+agr]

2 2.4 1.2 | *Eg snakkadi vid hann, og hann segdi, at honum treyt pengarnir, sum hann hevdi fingid DAT V NOM
I talked to him and he said that him.par exhausted.sc money-the.nom.pL that he had got | [-agr]

3 1.8 1.2 | *Egsnakkadi vid hann, og hann segdi, at honum trutu pengarnar, sum hann hevdi fingio DAT V Acc
I talked to him and he said that him.paT exhausted.pL money-the.acc.pL that he had got [+agr]

4 2.3 1.3 | *Eg snakkadi vid hann, og hann segdi, at honum treyt pengarnar, sum hann hevdi fingid DAT V AcC
I talked to him and he said that him.paT exhausted.sc money-the.acc.pL that he had got [—agr]

5 2.3 1.0 | *Eg snakkadi vid hann, og hann segdi, at pengarnir trutu honum NoM V DAT
I talked to him and he said that money-the.Nom.PL exhausted.pL him.paT [+agr]

6 1.5 0.8 | *Egsnakkadi vid hann, og hann segdi, at pengarnir treyt honum NoM V DAT
I talked to him and he said that money-the.nom.pL exhausted.sG him.pAT [—agr]

7 2.3 1.1 | *Eg snakkadi vid hann, og hann segdi, at pengarnar trutu honum Acc V DAT
I talked to him and he said that money-the.acc.prL exhausted.pL him.pat [+agr]

8 1.7 1.0 | *Egsnakkadi vid hann, og hann segdi, at pengarnar treyt honum Acc V DAT
I talked to him and he said that money-the.acc.prL exhausted.sG him.paT [—agr]

9 1.8 0.9 | *Vidvikjandi hansara figgarstoOu, tad tykist at honum trutu ognirnar, i0 hann hevdi fingio DAT V {N,A}
regarding his finances it seems that him.par exhausted.pL assets-the.{~,a} that he had got | [+agr]

10 | 1.9 1.1 | *Vidvikjandi hansara figgarstoou, tad tykist at honum treyt ognirnar, id hann hevdi fingid DAT V {N,A}
regarding his finances it seems that him.par exhausted.sc assets-the.{N,a} that he had got | [-agr]
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11 | 1.6 1.0 | *Vidvikjandi hansara figgarstedu, tad tykist at honum treyt ognin, id hann hevdi fingid DAT V NOM
regarding his finances it seems that him.par exhausted.sc asset-the.Nom that he had got [?+agr]

12 | 1.7 0.9 | *Vidvikjandi hansara figgarstedu, tad tykist at honum treyt ognina, i0 hann hevdi fingid DAT V Acc
regarding his finances it seems that him.par exhausted.sc asset-the.acc that he had got [—agr]

13 | 1.8 0.9 | *Vidvikjandi hansara figgarstodu, tad tykist at ognirnar trutu honum {N,a} V DAT
regarding his finances it seems that assets-the.{~,a} exhausted.pL him.pat [+agr]

14 | 1.4 0.8 | *Vidvikjandi hansara figgarstedu, tad tykist at ognirnar treyt honum {N,a} V DAT
regarding his finances it seems that assets-the.{~,a} exhausted.sG him.pat [—agr]

15 | 1.7 1.0 | *Vidvikjandi hansara figgarstodu, tad tykist at ognin treyt honum NoM V DAT
regarding his finances it seems that asset-the.nom exhausted.sG him.pat [?+agr]

16 | 1.3 0.6 | *Vidvikjandi hansara figgarstedu, tad tykist at ognina treyt honum Acc V DAT
regarding his finances it seems that asset-the.acc exhausted.pL him.pAT [—agr]

Appendix B3: Faroese ‘give’ passive surveys

Table [6] shows the sentences presented in the Faroese ‘give’ passive surveys, excluding filler and the active
forms with ‘mann’. In the Agreement column, agreement patterns in curly brackets are possibilities that
exist due to ambiguous morphology, namely that the —ar participial suffix is the same for acc.m.pL, NOM.E.PL
and acc.r.pL; there is also syncretism in the neuter, which has the same nominative and accusative nominal
and participial forms in both singular and plural. When there is ambiguity as to which argument is the
target of agreement, both possibilities are presented in the Agreement columnn; a question mark in the
Agreement column indicates a mismatch in case or gender. As can be seen, none of these sentences were
judged acceptable, although sentences 11 and 15 had mean acceptability between 3—4.

Key to abbreviations: Aux = auxiliary, X = expletive, Go = goal, Th = theme
Key to judgements: * = mean acceptability < 2.5, ?? = 2.5-3, ? = 3—4, no mark = mean > 4

13




Table 6: Faroese ‘give’ passive surveys: sentences

SENTENCE

WORD ORDER

THEME
CASE

AGREEMENT

*Monnunum vard givid tveir nyggir bdtar

men-the.DAT.M.PL Was.3sG given.sup two.{N,A}.M New.NOM.M.PL
boats.NOM.M.PL

The men were given two new boats

Go-V-Th

NOM

Default/3sc

1.9

*Monnunum vard givid tveir nyggjar bdtar

men-the.DAT.M.PL was.3sG given.sup two.{N,A}.M new.AcCc.M.PL
boats.acc.M.PL

The men were given two new boats

Go-V-Th

ACC

Default/3sc

*Konunum vordu givnir tveir nyggir batar
women-the.DAT.F.PL  were.3pPL  given.NOM.M.PL
New.NOM.M.PL boats.NOM.M.PL

The women were given two new boats

two.{N,a}.M

Go-V-Th

NOM

Th: NOM.M.PL

1.8

*Konunum vordu givnar tveir nyggjar batar

women-the.DAT.F.PL were.3PL given.{{N,A}.F.PL,ACC.M.PL}
two.{N,A}.M new.acc.M.pPL boats.Acc.M.PL

The women were given two new boats

Go-V-Th

ACC

Th: acc.m.pL
Go: {?N,?a}.E.PL

1.8

*Konunum vordu givnar tveir nyggir bdtar

women-the.DAT.F.PL were.3PL given.{{N,A}.F.PL,ACC.M.PL}
two.{N,A}.M new.NOM.M.PL boats.NOM.M.PL

The women were given two new boats

Go-V-Th

NOM

Go: {?N,?A}.R.PL
Th: Nom.?E.PL

1.5

0.9

*Dreingjunum vordu givnir tvey dyr klaver
boys-the.DAT.M.PL  were.3PL  given.NOM.M.PL
dear.{n,a}.N.PL pianos.{N,a}.N.PL

The boys were given two expensive pianos

two.{N,A}.N

Go-V-Th

{n,a}

Go: ?NOM.M.PL

2.4

*Dreingjunum vérdu givin tvey dyr klaver
boys-the.paT.M.PL  were.3pL  given.{N,A}.N.PL
dear.{n,a}.N.PL pianos.{N,A}.N.PL

The boys were given two expensive pianos

two.{N,a}.N

Go-V-Th

Th: {N,A}.N.PL

1.5

0.7

*Dreingjunum vard givin tvey dyr klaver

boys-the.DAT.M.PL  Was.35G
dear.{N,a}.N.PL pianos.{N,A}.N.PL
The boys were given two expensive pianos

given.{N,A}.N.PL  two.{N,A}.N

Go-V-Th

{n,a)

Default/3sc  +
Th: {N,A}.N.PL

1.6

*Tveir nyggir batar vard givid monnunum

two.{N,A}.M Nnew.NOM.M.PL boats.NOM.M.PL Was.3SG given.sup
men-the.DAT.M.PL

Two new boats were given (to) the men

Th-V-Go

NOM

Default/3sc

10

1.4

0.8

*Tveir nyggjar bdtar vard givid monnunum

two.{N,A}.M new.AcC.M.PL boats.ACC.M.PL Was.3SG given.sup
men-the.DAT.M.PL

Two new boats were given (to) the men

Th-V-Go

ACC

Default/3sc

11

33

B ?Tveir nyggir batar vordu givnir konunum
two.{N,a}.M New.NOM.M.PL boats.NoM.M.PL
given.NOM.M.PL women-the.DAT.E.PL

Two new boats were given (to) the women

were.3pPL

Th-V-Go

NOM

Th: NoM.M.PL

12

1.3

*Tveir nyggir bdtar vérdu givnar konunum
two.{N,a}.M New.NOM.M.PL boats.NoM.M.PL
given.{{N,a}.r.PL,aCcC.M.PL} women-the.DAT.E.PL
Two new boats were given (to) the women

were.3PL

Th-V-Go

NOM

Go: {?N,?A}.E.PL
Th: NoM.?F.PL

13

1.9

1.3

*Tveir nyggjar bdtar vorou givnar konunum
two.{N,A}.M NEewW.ACC.M.PL boats.acc.m.pPL
given.{{N,A}.F.PL,AcC.M.PL} women-the.DAT.F.PL

were.3PL

14

Th-V-Go

ACC

Th: acc.M.PL
Go: {?N,?A}.E.PL




Two new boats were given (to) the women

14

1.5

0.8

*Tvey dyr klaver vorou givnir dreingjunum
two.{N,A}.N  dear.n,A}.N.PL  pianos.{N,A}.N.PL
given.NoM.M.PL boys-the.pDAT.M.PL

Two expensive pianos were given (to) the boys

were.3PL

Th-V-Go

{n,a}

Go: ?NOM.M.PL

15

3.4

1.3

B ?Tvey dyr klaver vordu givin dreingjunum
two.{N,a}.N  dear.Nn,al.N.PL  Ppianos.{n,a}.N.PL
given.{N,A}.N.PL boys-the.DAT.M.PL

Two expensive pianos were given (to) the boys

were.3pPL

Th-V-Go

{na)

Th: {N,A}.N.PL

16

1.4

0.7

*Tvey dyr klaver vard givin dreingjunum

two.{N,aA}.N  dear.{N,A}.N.PL
given.{N,A}.N.PL boys-the.DAT.M.PL
Two expensive pianos were given (to) the boys

pianos.{N,A}L.N.PL  Was.3sG

Th-V-Go

Default/3sc  +
Th: {N,A}.N.PL

17

1.5

0.8

*Tveir nyggir bdtar vard monnunum givio
two.{N,A}.M new.NOM.M.PL boats.NOM.M.PL
the.DAT.M.PL given.sup

Two new boats were (to) the men given

Was.3sG men-

Th-Aux-Go-V

NOM

Default/3sG

18

1.3

0.6

*Tveir nyggjar bdtar vard monnunum givio
two.{N,A}.M new.acc.M.PL boats.Acc.M.PL
the.pAT.M.PL given.sup

Two new boats were (to) the men given

was.3sG = men-

Th-Aux-Go-V

ACC

Default/3sc

19

1.9

*Tveir nyggir bdatar vorou konunum givnir

two.{N,A}.M new.NOM.M.PL boats.NOM.M.PL were.3PL women-
the.DAT.E.PL given.NOM.M.PL

Two new boats were (to) the women given

Th-Aux-Go-V

NOM

Th: NOM.M.PL

20

1.5

0.9

*Tveir nyggir bdtar vordu konunum givhar

two.{N,A}.M new.NOM.M.PL boats.NOM.M.PL were.3PL women-
the.DAT.E.PL given.{{N,A}.F.PL,ACC.M.PL}

Two new boats were (to) the women given

Th-Aux-Go-V

NOM

Go: {?N,?A}.E.PL
Th: NoM.?F.PL

21

1.3

0.5

*Tveir nyggjar bdtar vorou konunum givnar

two.{N,A}.M new.acc.M.PL boats.acC.M.PL were.3PL women-
the.pAT.F.PL given.{{N,A}.F.PL,ACC.M.PL}

Two new boats were (to) the women given

Th-Aux-Go-V

ACC

Th: acc.Mm.PL
Go: {?N,?a}.E.PL

22

1.4

0.6

*Tvey dyr klaver vordu dreingjunum givnir

two.{N,a}.N dear.{N,A}.N.PL pianos.{N,a}.N.PL were.3PL boys-
the.DAT.M.PL given.NOM.M.PL

Two expensive pianos were (to) the boys given

Th-Aux-Go-V

Go: ?NOM.M.PL

23

2.0

0.9

*Tvey dyr klaver vordu dreingjunum givin

two.{N,aA}.N dear.{N,A}.N.PL pianos.{N,A}.N.PL were.3pL boys-
the.pDAT.M.PL given.{N,A}.N.PL

Two expensive pianos were (to) the boys given

Th-Aux-Go-V

{na)

Th: {N,A}.N.PL

24

1.2

0.5

*Tvey dyr klaver vard dreingjunum givin

two.{N,aA}.N dear.{N,A}.N.PL pianos.{N,A}.N.PL was.3sG boys-
the.pAT.M.PL given.{N,A}.N.PL
Two expensive pianos were (to) the boys given

Th-Aux-Go-V

{n,a)

Default/3sc  +
Th: {N,A}.N.PL

25

2.0

1.0

*Tad vard givid monnunum tveir nyggir bdtar
EXPL Was.3sG given.sup men-the.DAT.M.PL
new.NOM.M.PL boats.NOM.M.PL

It was given (to) the men two new boats

two.{N,a}.M

X-V-Go-Th

NOM

Default/3sc

26

2.3

*Tad vard givid monnunum tveir nyggjar batar
EXPL Was.3sG given.sup men-the.DAT.M.PL
New.ACC.M.PL boats.Acc.M.PL

It was given (to) the men two new boats

two.{N,a}.M

X-V-Go-Th

ACC

Default/3sc

27

*Tad vordu givnir konunum tveir nyggir bdtar

15

X-V-Go-Th

NOM

Th: NoM.M.PL




EXPL were.3PL given.NOM.M.PL women-the.DAT.E.PL two.{N,A}.M
New.NOM.M.PL boats.NOM.M.PL
It was given (to) the women two new boats

28

1.8 0.9

*Tad vordu givnar konunum tveir nyggir batar

EXPL were.3PL given.{{N,A}.E.PL,ACC.M.PL} women-the.DAT.F.PL
two.{N,A}.M new.NOM.M.PL boats.NOM.M.PL

It was given (to) the women two new boats

X-V-Go-Th

NOM

Go: {?N,?a}.E.PL
Th: NoM.?E.PL

29

1.7 0.8

*Tad vorou givnar konunum tveir nyggjar bdtar

EXPL were.3PL given.{{N,A}.F.PL,ACcC.M.PL} women-the.DAT.F.PL
two.{N,A}.M new.acc.M.PL boats.acc.M.PL

It was given (to) the women two new boats

X-V-Go-Th

ACC

Go: {?N,?A}.E.PL
Th: Nom.?E.PL

30

1.7 1.0

*Tad vorou givnir dreingjunum tvey dyr klaver

EXPL were.3PL given.NOM.M.PL boys-the.DAT.M.PL two.{N,A}.N
dear.{N,A}.N.PL pianos.{N,A}.N.PL

It was given (to) the boys two expensive pianos

X-V-Go-Th

{n,a}

Go: ?NOM.M.PL

31

2.6 1.2

B ??Tad vordu givin dreingjunum tvey dyr klaver

EXPL were.3PL given.{N,A}].N.PL boys-the.DAT.M.PL two.{N,A}.N
dear.{n,a}.N.PL pianos.{N,a}.N.PL

It was given (to) the boys two expensive pianos

X-V-Go-Th

{nal

Th: {N,a}.N.PL

32

1.6 0.8

*Tad vard givin dreingjunum tvey dyr klaver

EXPL Was.3sG given.{N,A}.N.PL boys-the.DAT.M.PL two.{N,A}.N
dear.{n,a}.N.PL pianos.{N,A}.N.PL
It was given (to) the boys two expensive pianos

X-V-Go-Th

{na)

Default/3sc  +
Th: {N,a}.N.PL

Appendix B4: Icelandic ‘give’ passive & quirky case survey

Icelandic ‘give’ passive

Table [7] shows the sentences presented in the Icelandic ‘give’ passive survey. In the same way as for the
Faroese ‘give’ passive survey, in the Agreement column a question mark indicates a mismatch in case or
number. I have also notated dative intervention, i.e. when a dative argument intervenes between the par-
ticiple and the target of agreement, with the phrase ‘across pat’ in the Agreement column.

Key to abbreviations: Aux = auxiliary, X = expletive, Go = goal, Th = theme
Key to judgements: * = mean acceptability < 2.5, ?? = 2.5-3, ? = 3—4, no mark = mean > 4

Table 7: Icelandic ‘give’ passive survey: sentences

N¢| u o0 | SENTENCE WORD ORDER THEME | AGREEMENT
CASE

1 | 4.7 1.0| Monnunum voru gefnir tveir nyir batar Goal-V-Theme | nom Th: NoMm.Mm.PL
men-the.DAT.M.PL were.3pPL giVen.NOM.M.PL two.NOM.M
New.NOM.M.PL boats.NOM.M.PL
The men were given two new boats

2 | 1.0 o.0| *Monnunum voru gefnir tvo nyja bdta Goal-V-Theme | acc Go: ?NOoM.M.PL
men-the.DAT.M.PL were.3PL giVel’l.NOM.M.PL two.Acc.Mm
new.Acc.M.PL boats.Acc.M.PL
The men were given two new boats

3 | 1.0 o.0| *Monnunum voru gefna tvo nyja bdta Goal-V-Theme | acc Th: acc.m.pL
men-the.DAT.M.PL were.3PL given.Acc.M.PL two.acc.m
new.Acc.M.PL boats.Acc.M.PL

16




The men were given two new boats

1.4

1.1

*Monnunum var gefid tveir nyir bdtar
men-the.DAT.M.PL Was.3sG giVen.SUP tWO0.NOM.M NEeW.NOM.M.PL
boats.NoM.M.PL

The men were given two new boats

Goal-V-Theme

NOM

Default/3sG

1.2

*Monnunum voru gefnum tveir nyir bdtar
men-the.DAT.M.PL  were.3PL
new.NOM.M.PL boats.NOM.M.PL
The men were given two new boats

given.DAT.M.PL  tWO.NOM.M

Goal-V-Theme

NOM

Go: DAT.M.PL

43

1.0

Tveir nyir bdtar voru gefnir ménnunum
two.NOM.M NEeW.NOM.M.PL

given.NoM.M.PL men-the.pAT.M.PL
Two new boats were given (to) the men

boats.NoM.M.PL were.3PL

Theme-V-Goal

NOM

Th: NoM.M.PL

*Tvo nyja bdta voru gefnir ménnunum
two.acc.m NEew.ACC.M.PL

given.NOM.M.PL men-the.pDAT.M.PL
Two new boats were given (to) the men

boats.acc.m.pL were.3PL

Theme-V-Goal

ACC

Go: ?’NOM.M.PL

0.3

*Tvo nyja bdta voru gefna monnunum
two.Aacc.M NEW.ACC.M.PL boats.Acc.m.pPL
given.acc.M.PL men-the.paT.M.PL

Two new boats were given (to) the men

were.3pPL

Theme-V-Goal

ACC

Th: acc.m.PL

0.4

*Tveir nyir bdtar var gefid monnunum

tWO.NOM.M New.NOM.M.PL boats.NOM.M.PL Wwas.38G giVen.SUP
men-the.pAT.M.PL

Two new boats were given (to) the men

Theme-V-Goal

NOM

Default/3sG

10

1.3

*Tveir nyir bdtar voru gefnum ménnunum
two.NOM.M NEeW.NOM.M.PL

given.DAT.M.PL men-the.DAT.M.PL
Two new boats were given (to) the men

boats.NoM.M.PL were.3PL

Theme-V-Goal

NOM

Go: DAT.M.PL

11

3-3

1.5

B ?Tveir nyir bdtar voru ménnunum gefnir
tWO.NOM.M New.NOM.M.PL boats.NOM.M.PL were.3PL
the.DAT.M.PL given.NOM.M.PL

Two new boats were (to) the men given

men-

Th-Aux-Go-V

NOM

Th: NoM.M.PL
across DAT

12

0.4

*Tvo nyja bdta voru ménnunum gefnir
two.Acc.M new.Aacc.M.pL  boats.acc.M.pPL
the.DAT.M.PL given.NOM.M.PL

Two new boats were (to) the men given

were.3pPL men-

Th-Aux-Go-V

ACC

Go: ?’NOM.M.PL

13

1.0

0.0

*Tvo nyja bdata voru monnunum gefna
two.acc.Mm
the.DAT.M.PL given.Acc.M.PL

Two new boats were (to) the men given

New.ACC.M.PL boats.acc.m.PL were.3PL men-

Th-Aux-Go-V

ACC

Th: acc.m.PL
across DAT

14

1.4

1.1

*Tveir nyir bdtar var monnunum gefio
two.NOM.M NEew.NOM.M.PL
the.pAT.M.PL given.sup

Two new boats were (to) the men given

boats.NOM.M.PL Was.3SG men-

Th-Aux-Go-V

NOM

Default/3sG
across DAT

15

0.3

*Tveir nyir batar voru ménnunum gefnum
tWO.NOM.M NEew.NOM.M.PL
the.DAT.M.PL given.DAT.M.PL
Two new boats were (to) the men given

boats.NOM.M.PL were.3PL men-

Th-Aux-Go-V

NOM

Go: DAT.M.PL

16

*bad voru tveir nyir bdatar monnunum gefnir
EXPL were.3PL tWO0.NOM.M NEW.NOM.M.PL boats.NOM.M.PL men-
the.pAT.M.PL given.nom.m.pl

17

X-Th-Go-V

NOM

Th: NoM.M.PL
across DAT




It was two new boats (to) the men given

17

0.3

*bad voru tvo nyja bata monnunum gefnir

EXPL were.3pPL tW0.ACC.M NEWwW.ACC.M.PL boats.Acc.M.PL men-
the.pAT.M.PL given.nom.m.pl

It was two new boats (to) the men given

X-Th-Go-V

ACC

Go: ?NOM.M.PL

18

0.0

*bad voru tvo nyja bata monnunum gefna

EXPL Wwe€re.3pPL tWO0.ACC.M NEew.ACC.M.PL boats.Acc.M.PL men-
the.pAT.M.PL given.acc.m.pl

It was two new boats (to) the men given

X-Th-Go-V

ACC

Th: acc.m.PL
across DAT

19

0.3

*bad var tveir nyir batar ménnunum gefid

EXPL Was.3SG tWO.NOM.M New.NOM.M.PL boats.NOM.M.PL men-
the.pAT.M.PL given.sup

It was two new boats (to) the men given

X-Th-Go-V

NOM

Default/3sc
across DAT

20

0.8

*bad voru tveir nyir bdatar ménnunum gefnum

EXPL were.3PL tWO.NOM.M Ne€W.NOM.M.PL boats.NOM.M.PL men-
the.pat.m.PL given.dat.m.pl

It was two new boats (to) the men given

X-Th-Go-V

NOM

Go: DAT.M.PL

21

*Pad voru monnunum tveir nyir batar gefnir

EXPL Were.3pL men-the.DAT.M.PL twWO.NOM.M NE€W.NOM.M.PL
boats.NoM.M.PL given.nom.m.pl

It was (to) the men two new boats given

X-Go-Th-V

NOM

Th: NoM.M.PL

22

0.3

*bad voru méonnunum tvo nyja bdta gefnir

EXPL We€re.3pL men-the.DAT.M.PL tW0.ACC.M NEW.ACC.M.PL
boats.acc.mM.PL given.nom.m.pl

It was (to) the men two new boats given

X-Go-Th-V

ACC

Go: ?’NOM.M.PL

23

0.0

*bad voru monnunum tvo nyja bdta gefna

EXPL Wwere.3PL men-the.DAT.M.PL tW0.ACC.M New.ACC.M.PL
boats.acc.M.PL given.acc.m.pl

It was (to) the men two new boats given

X-Go-Th-V

ACC

Th: acc.m.PL

24

*bad var monnunum tveir nyir batar gefio

EXPL Was.3sG men-the.DAT.M.PL tWO.NOM.M NEeW.NOM.M.PL
boats.NOM.M.PL given.sup

It was (to) the men two new boats given

X-Go-Th-V

NOM

Default/3sG

25

*Pad voru monnunum tveir nyir bdatar gefnum

EXPL Were.3prL men-the.DAT.M.PL tWO.NOM.M NE€W.NOM.M.PL
boats.NoM.M.PL given.dat.m.pl

It was (to) the men two new boats given

X-Go-Th-V

NOM

(GoO: DAT.M.PL

26

1.4

*Pad voru gefnir monnunum tveir nyir bdtar

EXPL were.3PL given.nom.m.pl men-the.DAT.M.PL two0.NOM.M
New.NOM.M.PL boats.NOM.M.PL

It was given (to) the men two new boats

X-V-Go-Th

NOM

Th: NoM.M.PL
across DAT

27

0.3

*bad voru gefnir monnunum tvo nyja bdta

EXPL were.3PL given.nom.m.pl men-the.pDAT.M.PL two.AcC.M
new.Acc.M.PL boats.acc.m.pPL

It was given (to) the men two new boats

X-V-Go-Th

ACC

Go: ?’NOM.M.PL

28

*bad voru gefna monnunum tvo nyja bata

EXPL were.3pPL given.acc.m.pl men-the.DAT.M.PL two.ACC.M
new.Acc.M.PL boats.Acc.M.PL

It was given (to) the men two new boats

X-V-Go-Th

ACC

Th: acc.m.pPL
across DAT

29

0.4

*bad var gefid monnunum tveir nyir batar
EXPL Was.3sG given.sup men-the.DAT.M.PL
New.NOM.M.PL boats.NOM.M.PL

two.NOM.M

18

X-V-Go-Th

NOM

Default/3sG
across DAT




It was given (to) the men two new boats

30

1.0 0.0

*bad voru gefnum monnunum tveir nyir batar

EXPL were.3PL given.dat.m.pl men-the.DAT.M.PL two0.NOM.M
New.NOM.M.PL boats.NOM.M.PL

It was given (to) the men two new boats

X-V-Go-Th

NOM

GoO: DAT.M.PL

31

3.2 1.6

B ?Pad voru tveir nyir bdtar gefnir monnunum

EXPL We€re.3pL tWO.NOM.M NEW.NOM.M.PL boats.NOM.M.PL
given.nom.m.pl men-the.paT.m.PL

It was two new boats given (to) the men

X-Th-V-Go

NOM

Th: NoM.M.PL

32

*bad voru tvo nyja bdta gefnir monnunum
EXPL were.3PL tWO.ACC.M NEW.ACC.M.PL  boats.ACC.M.PL
given.nom.m.pl men-the.pAT.M.PL

It was two new boats given (to) the men

X-Th-V-Go

ACC

Go: ?’NOM.M.PL

33

1.1 0.5

*bad voru tvo nyja bdta gefna monnunum

EXPL Were.3PL tw0.ACC.M NEW.ACC.M.PL  boats.ACC.M.PL
given.acc.m.pl men-the.paT.m.PL

It was two new boats given (to) the men

X-Th-V-Go

ACC

Th: acc.m.pPL

34

*bad var tveir nyir bdtar gefid monnunum

EXPL was.3pPL two.NOM.M New.NOM.M.PL boats.NOM.M.PL
given.sup men-the.DAT.M.PL

It was two new boats given (to) the men

X-Th-V-Go

NOM

Default/3sG

35

*bad voru tveir nyir batar gefnum ménnunum

EXPL We€re.3pL tWO.NOM.M NEW.NOM.M.PL boats.NOM.M.PL
given.dat.m.pl men-the.pAT.M.PL

It was two new boats given (to) the men

X-Th-V-Go

NOM

Go: DAT.M.PL

Icelandic dative-subject verbs

The 54 sentences shown in Table [8| involving dative-subject predicates were tested in the same Icelandic
survey as the sentences in Table[7]

Key to judgements: * = mean acceptability < 2.5, ?? = 2.5-3, ? = 3—4, (?) = 4—4.1, no mark = mean > 4.1

Table 8: Icelandic quirky case verbs survey

Ne | u o SENTENCE
1 2.5 1.4 | B ?2?Mér likadi ekki pessir hestar

Me.part.sG liked.sG not these.Nom.M.PL horses.NoOM.M.PL
2 | 2.2 1.3 | *Mér likadi pessir hestar ekki

Me.pAar.sG liked.sG these.NoM.M.PL horses.NoM.M.PL not
3 4.4 1.2 | Meér likudu ekki pessir hestar

Me.parT.sG liked.rL not these.NoMm.M.PL horses.NoM.M.PL
4 4.1 1.3 | (?)Mér likudu pessir hestar ekki

Me.par.sG liked.prL these.NoM.M.PL horses.NOM.M.PL not
5 | 1.5 0.7 | *Meér likadi ekki peir

Me.par.sG liked.sG not they.Nom.m.PL
6 | 2.7 1.5 | B ??Mér likadi peir ekki

Me.part.sG liked.sG they.Nom.M.PL not
7 | 2.3 1.2 | *Meérlikudu ekki peir

Me.pat.sG liked.rL not they.Nom.M.PL
8 | 4.1 1.4 | Mérlikudu peir ekki

19




Me.part.sG liked.pL they.NoM.M.PL not

9 | 1.2 0.6 | *bad likadi mér ekki pessir hestar

expL liked.sG me.pAT.sG not these.NoM.M.PL horses.NOM.M.PL
10 | 1.2 0.6 | *Pad likudu mér ekki pessir hestar

ExpL liked.PL me.DAT.sG not these.Nom.m.PL horses.NOM.M.PL
11 | 1.1 0.3 | *Pad likadi mér ekki peir

expL liked.sG me.DAT.sG not they.NoM.M.PL
12 | 1.1 0.3 | *Pad likadi mér peir ekki

expL liked.sG me.part.sG they.NoM.M.PL not
13 | 1.1 0.3 | *Pad likudu mér ekki peir

expL liked.PL me.DAT.SG not they.NoM.M.PL
14 | 1.1 0.3 | *Pad likudu mér peir ekki

expL liked.PL me.DAT.sG they.NOM.M.PL not
15 | 1.8 1.6 | *Pad hafa bara einum nemanda likad pessar hugmyndir

ExPL have.3pL only one.pAT.M.sG student.pAT.M.sG liked these.Nom.F.PL ideas.NOM.F.PL
16 | 4.3 1.4 | Dbad hefur bara einum nemanda likad pessar hugmyndir

ExPL has.3sG only one.par.M.sG student.paT.m.sG liked these.NoM.F.PL ideas.NOM.E.PL
17 | 4.2 1.5 | Honum hafa alltaf likad pessar hugmyndir

Him.pat.M.sG have.3pL always liked these.Nom.F.PL ideas.NOM.E.PL
18 | 3.5 1.5 | B ?Honum hefur alltaf likad pessar hugmyndir

Him.pat.M.sG has.3sG always liked these.NoM.F.PL ideas.NOM.E.PL
19 | 1.4 0.8 | *Pad lika honum pessar hugmyndir

ExpL like.3PL him.DAT.M.sG these.NOM.F.PL ideas.NOM.E.PL
20 | 1.3 0.6 | *Pad likar honum pessar hugmyndir

expL likes.3sG him.pAT.M.sG these.NOM.F.PL ideas.NOM.E.PL

Adur en ég heyrdi Siggu syngja...

Before that I.noM.sG heard.sG Sigga.Acc.E.sG sing.INF
21 | 2.2 1.3 | ..*haf0i mér enginn songvari likad

had.sG me.DAT.sG no.NOM.M.sG singernom.M.sG liked
22 | 1.4 0.8 | ..*haf0i mér likad enginn songvari

had.sGc me.par.sG liked no.NOM.M.SG singer.NOM.M.SG
23 | 1.6 0.9 | ...*hafdi mér likad engin l6g

had.sG me.par.sG liked no.NOM.N.PL sONgS.NOM.N.PL
24 | 2.3 1.3 | ...*haf0i mér engin 16g likad

had.sG me.DpAT.sG n0.NOM.N.PL songs.NOM.N.PL liked
25 | 1.5 0.9 | ..*hofou mér likad engin log

had.pL me.paT.sG liked no.NOM.N.PL S0NgS.NOM.N.PL
26 | 2.9 1.3 | B ...22hofou mér engin 16g likad

had.pL me.DAT.sG no.NOM.N.PL songs.NoM.N.PL liked
27 | 2.3 1.2 | ..*hafdi mér aldrei neinn songvari likad

had.sG me.DAT.sG never any.NoM.M.sG singer.Nom.M.sG liked
28 | 4.4 1.1 | ..hafdi mér aldrei likad neinn songvari

had.sG me.pat.sG never liked any.NoM.M.sG singer.NoM.M.sG
29 | 1.2 0.6 | ..*haf0i mér neinn songvari aldrei likad

had.sG me.pAT.sG any.NOM.M.sG singer.NoM.M.sG never liked
30 | 1.4 1.1 | ...*hafdi mér likad aldrei neinn songvari

had.sG me.part.sG liked never any.NoM.M.sG singer.NOM.M.sG
31 | 2.0 1.2 | ...*haf0i mér aldrei nein 10g likad

had.sG me.DpAT.sG never any.NOM.N.PL songs.NoM.N.PL liked
32 | 3.5 1.3 | B...”haf0i mér aldrei likad nein log

had.sc me.paT.sG never liked any.NOM.N.PL songs.NOM.N.PL
33 | 1.1 0.4 | ...*haf0i mér nein 16g aldrei likad

20




had.sG me.DAT.sG any.NOM.N.PL songs.NOM.N.PL never liked

34 | 1.3 0.8 | ..*hafdi mér likad aldrei nein l6g

had.sc me.paT.sG liked never any.NOM.N.PL sONgs.NOM.N.PL
35 | 2.1 1.1 | ..*h0f0u mér aldrei nein 10g likad

had.pL me.DAT.sG never any.NoM.N.PL songs.NOM.N.PL liked
36 | 4.2 1.2 | ..hofou mér aldrei likad nein 10g

had.pL me.paT.5G never liked any.NOM.N.PL 50NgS.NOM.N.PL
37 | 1.2 0.4 | ..*hof0u mér nein 1og aldrei likad

had.pL me.DAT.SG any.NOM.N.PL songs.NOM.N.PL never liked
38 | 1.8 1.3 | ...*hof0u meér likad aldrei nein 1og

had.pL me.par.sG liked never any.NOM.N.PL s0ngs.NOM.N.PL

Adur en peir heyrou Siggu syngja...

Before that they.Nom.m.PL heard.pL Sigga.ACC.F.SG Sing.INF
39 | 1.9 1.1 | ...*hafdi peim eflaust aldrei nein 16g likad

had.sG them.paT.M.PL doubtless never any.Nom.N.PL songs.NoM.N.PL liked
40 | 3.3 1.3 | B ...2hafoi peim eflaust aldrei likad nein 16g

had.sG them.par.m.PL doubtless never liked any.NOM.N.PL songs.NOM.N.PL
41 | 1.1 o.5 | ...*hafdi peim eflaust nein 16g aldrei likad

had.sG them.par.m.PL doubtless any.NoM.N.PL songs.NoM.N.PL never liked
42 | 1.4 0.9 | ..*hafdi peim eflaust likad aldrei nein 16g

had.sG them.paT.M.PL doubtless liked never any.NOM.N.PL songs.NOM.N.PL
43 | 2.1 1.3 | ...*hofou peim eflaust aldrei nein 1og likad

had.pL them.pat.Mm.PL doubtless never any.Nom.N.PL songs.NoM.N.pPL liked
44 | 3.2 1.7 | B ...2hifdu peim eflaust aldrei likad nein 16g

had.prL them.pat.Mm.PL doubtless never liked any.NOM.N.PL sONgs.NOM.N.PL
45 | 1.1 0.3 | ...*hofou peim eflaust nein 16g aldrei likad

had.pL them.paT.M.PL doubtless any.NOM.N.PL songs.NOM.N.PL never liked
46 | 1.0 0.0 | ..*hdfou peim eflaust likad aldrei nein log

had.pL them.pat.Mm.PL doubtless liked never any.NOM.N.PL SONgS.NOM.N.PL

Vegna pess ad peer hafa aldrei horft a fotboltaleik ddur...

Because they.Nom.r.pL have.3pL never watched on football.match.acc.m.sG before
47 | 1.2 0.4 | ..*geti peim hafa aldrei neinir leikmenn likad

must.sG them.DAT.F.PL have.INF never any.NoM.M.PL players.Nom.m.pPL liked
48 | 1.5 0.9 | ...*geti peim hafa aldrei likad neinir leikmenn

must.sG them.par.r.pL have.INF never liked any.NoM.M.PL players.NoM.M.PL
49 | 1.5 0.9 | ..."geti peim aldrei hafa neinir leikmenn likad

must.sG them.DAT.E.PL never have.INF any.NoM.M.PL players.Nom.m.pL liked
50 | 3.5 1.7 | B ..?geti peim aldrei hafa likad neinir leikmenn

must.sG them.pat.F.pL never have.InF liked any.NoM.M.PL players.NOM.M.PL
51 | 1.3 0.8 | ...*g@tu peim hafa aldrei neinir leikmenn likad

must.PL them.DAT.F.pL have.INF never any.Nom.M.PL players.Nom.m.PL liked
52 | 1.8 1.3 | ..*g@tu peim hafa aldrei likad neinir leikmenn

must.pL them.pAT.E.PL have.INF never liked any.NoM.M.PL players.NOM.M.PL
53 | 1.4 0.7 | ..*g@tu peim aldrei hafa neinir leikmenn likad

must.PL them.DAT.F.PL never have.INF any.NoM.M.PL players.Nom.M.PL liked
54 | 3.3 1.6 | B ..?getu peim aldrei hafa likad neinir leikmenn

must.pL them.DAT.E.PL never have.INF liked any.NoM.M.PL players.NoM.M.PL
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Appendix Bs: Faroese ditransitive passive survey, verbs other than ‘give’

Table [g] shows the sentences presented in the survey on Faroese ditransitive passives with verbs other than
‘give’. Unfortunately, the incorrect case inflection of pensionir ‘pensions’ was tested in the examples with
veita ‘bestow, grant’: for intended nom.pL —ir the form GEN.sG —ar was used. Other confounds exist with
veita, since the verb itself is infrequent and one speaker commented that the word eftirlon ‘pension’ was
more acceptable than the Danish loanword pension.

Key to judgements: * = mean acceptability < 2.5, ?? = 2.5-3, ? = 3—4, no mark = mean > 4
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Table 9: Faroese ditransitive passive survey, verbs other than ‘give’: sentences

SENTENCE

WORD ORDER

4.5

Absalon tryr, at teir seldu sjomonnunum bdtin
Absalon believes that they.Nom sold seamen-the.pat boat-the.acc
‘Absalon believes that they sold the seamen the boat’

Agent-Goal-Theme

1.4

*Asa tryr, at pensionar vorou veittar monnunum
Asa believes that pensions.*GeN.sG were.pL bestowed.NOM.F.PL men-the.DAT
‘Asa believes that pensions were granted to the men’

Theme-Goal

4.9

0.3

Bogi segdi, at baturin vard seldur 1 gjar
Bogi said that boat-the.NoM was.sG sold.NoM.M.sG yesterday
‘Bogi said that the boat was sold yesterday’

Theme only

1.3

0.6

*Edvard tridi, at sjomonnunum vard seldur baturin
Edward believed that seamen-the.paT was.sG sold.NoM.M.sG boat-the.NoMm
‘Edward believed that the seamen were sold the boat’

Goal-Theme

3.6

1.4

B ?Eg haldi, at pengar vorou lovadir gentunum
I think that money.noM were.PL promised.NoM.M.PL girls-the.DAT
‘I think that the money was promised to the girls’

Theme-Goal

3.8

1.0

?Eg hoyrdi, at Bjarni flutti pengarnar yvir til bankan
I heard that Bjarni.nom moved.sc money-the.acc over to bank-the.acc
‘T heard that Bjarni transferred the money to the bank’

Agent-Theme-Goal

4.4

Eg sd, at Jogvan handadi konuni pennin
I saw that John.~om handed.sc woman-the.pat pen-the.acc
‘I saw that John handed the woman the pen’

Agent-Goal-Theme

B ?Eg segdi teimum, at vit budu monnunum bilettir
I said them that we.NoMm offered.pL men-the.par tickets.acc
‘I said to them that we offered the men tickets’

Agent-Goal-Theme

3.6

1.3

B ?Elinborg helt, at teldurnar blivu lentar gentuni
Elinborg thought that computers-the.Nom were.pPL lent.Nom.E.PL girl-the.DAT
‘Elinborg thought that the computers were lent to the girl’

Theme-Goal

10

35

1.2

B ?Erla gloymdi, at bokurnar vordu vistar dreinginum
Erla forgot that books-the.NoM were.pL shown.NoM.F.PL boy-the.DAT
‘Erla forgot that the books were shown to the boy’

Theme-Goal

11

1.7

0.9

*Finnur helt, at dreinginum vérdu vistir pennarnir
Finnur thought that boy-the.pat were.pL shown.Nom.M.PL pens-the.NoMm
‘Finnur thought that the boy was shown the pens’

Goal-Theme

12

0.4

*Gerda heldur, at gentuni bleiv lent teldan
Gerda thinks that girl-the.pDAT was.sG lent.NoM.F.sG computer-the.Nom
‘Gerda thinks that the girl was lent the computer’

Goal-Theme

13

2.9

1.6

B ??2Gudrid segoi, at gentunum vordu lovadir pengar
Gudrio said that girls-the.paT were.pL promised.NOM.M.PL money.NOM
‘Guorid said that the girls were promised money’

Goal-Theme

14

2.4

1.5

*Hdkun gloymdi, at pensionar vordu veittar i fjor
Hakun forgot that pensions.*GEN.sG were.pPL granted.NoM.F.PL last year
‘Hakun forgot that pensions were granted last year’

Theme only

15

4.5

Hann heldur, at Sigmundur visti dreinginum bokina
he thinks that Sigmund.~nom showed.sG boy-the.pat book-the.acc
‘He thinks that Sigmund showed the boy the book’

Agent-Goal-Theme

16

2.7

0.9

??Hann segdi mer, at skjolini blivu handad fyri 2 minuttir sidani
he said me that files-the.noM were.pL handed.NoM.N.PL for 2 minutes ago
‘He said to me that the files were handed two minutes ago’

Theme only

17

4.4

0.9

Henny gloymdi, at teldan bleiv lent i fjor
Henny forgot that computer-the.NomM was.sG lent.NoM.F.sG last year
‘Henny forgot that the computer was lent last year’

Theme only

18

4.0

1.0

Jakup triidi, at hesir pengarnir vorou lovadir i fjor
Jacob believed that these.Nom money-the.Nom were.pL promised.Nom.M.PL last year

23

Theme only




‘Jacob believed that this money was promised last year’

19

1.6

1.2

*Johann helt, at bankanum blivu yvirfluttir pengarnir
Johann thought that bank-the.pat were.pL transferred.Nom.M.PL money-the.Nom
‘Johann thought that the money was transferred to the bank’

Goal-Theme

20

4.6

0.6

Jonver heldur, at baturin vard seldur sjomonnunum
Jonver thinks that boat-the.NoMm was.sG sold.NoM.M.sG seamen-the.DAT
‘Jénver thinks that the boat was sold to the seamen’

Theme-Goal

21

39

0.9

?Katrin seg0i, at hiisid vard vist i gjdr
Katrin said that house-the.NoM was.sG shown.NoM.N.sG yesterday
‘Katrin said that the house was shown yesterday’

Theme only

22

1.3

*Oddmar sigur, at monnunum blivu bjodadar bilettirnar
Oddmar says that men-the.pat were.pL offered.Nom.r.PL tickets-the.NoMm
‘Oddmar says that the men were offered the tickets’

Goal-Theme

23

1.2

*Petur helt, at monnunum vordu veittar pensionar
Peter thought that men-the.pat were.pL bestowed.NOM.F.PL pensions.*GEN.SG
‘Peter thought that the men were granted pensions’

Goal-Theme

24

3-5

1.3

B ?Rogvi heldur, at bilettirnar blivu bodnar konunum
EXPL Was.sG read.sup by all.pat
‘Rogvi thinks that the tickets were offered to the women’

Theme-Goal

25

4.8

0.4

Stisanna segdi, at hon lenti gentuni telduna
Susanna said that she.xom lent.sG girl-the.paT computer-the.acc
‘Susanna said that she lent the girl the computer’

Agent-Goal-Theme

26

3-5

1.2

B ?Teir sou, at pengarnir blivu yvirfluttir i fjor
they saw that money-the.NoM were.pL transferred.NoM.Mm.PL last year
‘They saw that the money was transferred last year’

Theme only

27

1.6

0.7

*Tey sogdu, at konuni bleiv handadur pennurin
they said that woman-the.par was.sc handed.Nom.M.sG pen-the.NoM
‘They said that the woman was handed the pen’

Goal-Theme

28

35

1.3

B ?Tit gloymdu, at pengarnir blivu yvirfluttir til bankan.
you.rL forgot that money-the.Nom were.sG transferred.Nom.m.PL to bank-the.acc
“You forgot that the money was transferred to the bank’

Theme-Goal

29

4.8

0.4

Uni helt, at ter lovadu gentunum pengar
Uni thought that they.Nom.r.PL promised.pL girls-the.pDaT money.acc
‘Uni thought that they promised the girls money’

Agent-Goal-Theme

30

2.3

1.4

*Vit hoyrdu, at stjornin veitti monnunum pensionar
we heard that boss-the.Nom bestowed.sG men-the.DAT pensions.*GEN.sG
‘We heard that the boss granted the men pensions’

Agent-Goal-Theme

31

3.8

1.2

B ?Vit sou, at pennurin bleiv handadur konuni
we saw that pen-the.Nom was.sG handed.Nom.M.sG girl-the.pat
‘We saw that the pen was handed to the woman’

Theme-Goal

Appendix C: Histograms for survey judgement distributions

In the following appendices, histograms are presented for the sentences tested in the surveys. A black
dotted line indicates the mean judgement.

Appendix C1: Faroese quirky case survey 1
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Appendix C4: Faroese passive survey 1
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Appendix C6: Faroese ‘give’ passive surveys
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Appendix C8: Faroese survey on ditransitive passives other than ‘give’
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